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(a) Spring
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(b) Summer
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Obs.: 0.26 + 0.14 ppbv yr Obs.: 0.19+0.20 ppbv yr
| Base: 0.30=+ 0.10 ppbv yr'1 r(OBS,AM3 Osbase) =0.70 4 5k Base: 0.25+ 0.10 ppbv yr'1 r(OBS,AM3 O3base) =0.54
O3strat: 0.19 + 0.18 ppbv yr . r(OBS,AM3 O3strat) =0.48 O3strat: 0.05+ 0.20 ppbv yl'*1 r(OBS,AM3 Osstrat) =0.02
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Obs.: 0.28+0.12 ppbv yr™'
| Base: 0.26+ 0.11 ppbv yr - r(OBS,AM3 Osbase)=0.66
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(d) Winter

Obs.: 0.10+0.10 ppbv yr ™’
| Base: 0.13+ 0.16 ppbv yr'1 r(OBS,AM3 O3base) =-0.18

-15
O3strat: 0.07 £+ 0.10 ppbv yr '1r(OBS,AM3 Osstrat)=0.10 Osstrat: 0.03 £ 0.18 ppbv yr'1 r(OBS,AM3 Osstrat) =-0.03
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